
support@ikancorp.com						             © 2017 ikan Corporation. All rights Reserved

www.ikancorp.com 713.272.8822

CHECKED BY

What’s Included
1 x MPA70 Monopod
1 x Carrying Case
1 x 1/8" Hex Key

QUICKSTART GUIDEMPA70
5-Section Lightweight Aluminum Monopod for Photo & Video



Ikan and all affiliated companies hereby disclaim any and all liabilities for property, 

equipment, building and electrical damages, injuries to any persons, and direct 

or indirect economic loss associated with the use or reliance of any information 

contained within this document, and/or as a result of the improper, unsafe, insufficient 

and negligent assembly, installation, rigging and operation of this product.



Introduction
The MPA70 features a dual-sided mounting screw with a ¼-20 and 3/8-16 thread and 4 twist-lock knobs used to extend or 
contract the monopod height.

How to Change Screw Thread
The MPA70 comes pre-assembled with the dual-sided mounting screw set to 3/8-16. To flip the screw over to ¼-20 use the 
following steps:

	 Step 1: To remove the circular base loosen the lock screw located next to the 3/8-16 screw. Use the provided 1/8" hex key 
and rotate the screw counter-clockwise just enough until it becomes loose.

	 Step 2: While looking down at the monopod, grab and twist the circular base in a counter-clockwise direction. Continue to 
twist the base until it is detached from the monopod.

	 Step 3: Remove the mounting screw from inside the base, flip over to the ¼-20 side, and reinsert the screw back into the 
center of the base.

	 Step 4: Screw the circular base back on to the monopod by rotating it in a clockwise fashion. Firmly tighten the base with 
your hand until secure.

	 Step 5: Finish securing the circular base to the monopod by tightening the lock screw with the provided 1/8" hex key. 

1

4

2

5

3



Operating the Twist-Lock
The MPA70 features 4 twist-lock knobs that divide the monopod into 5 sections. To adjust the height of the monopod, use the 
following steps:

Step 1: While looking down at the monopod, grab the desired knob with your hand, and twist the knob clockwise to open it.
Step 2: Adjust the height of the monopod by raising or lowering the open section.
Step 3: Once you have found your desired height, grab the open knob with your hand, and twist the knob counterclockwise  
            until it is firmly locked in place. 

Repeat steps 1-3 for each additional section.

1 2

3



Specifications

Optional Accessories

Some other products that work well with the MPA70 Monopod available from Ikan include:

VL35
EC1
MS-PRO
HDMI-AC1.4
HDMI-AD1.4
ELE-PN
EI-A49
DGH

3.5" 4K Signal Support HDMI On-Camera Field LCD Monitor with Canon LP-E6 Battery Plate
EC1 Beholder 3-Axis Gimbal Stabilizer with Encoders
MS-PRO Beholder 3-Axis Gimbal Stabilizer with Encoders
Slim HDMI Cable with v1.4 Ultra HD 4K Support (Mini to Standard)
Slim HDMI Cable with v1.4 Ultra HD 4K Support (Micro to Standard)
Pinch Clamp
5" Articulating Monitor Arm (E-Image)
Dual Grip Handle & Tray for EC1, & MS-PRO

Fixture Specifications

Weight 1.59 lbs

Minimum Height 18.8 in.

Maximum Height 70.8 in.

Leg Tube Diameter 0.87 - 1.35 in.

Upper Disc Diameter 2.3 in.

Vertical Payload Weight 35 lbs

Horizontal Payload Weight 7 lbs

Leg Sections 5

Top Attachment 3/8"-16 and ¼"-20

Leg Lock Type Twist Lock

Material Aluminum

* Do not exceed the payload weight when the monopod is extended out away from 
your body. Neglecting to follow this warning may result in structural failure of the 
MPA70 monopod.



Learn More
More dynamic information at official website: www.ikancorp.com

Support

Contact email: support@ikancorp.com

CONDITIONS OF WARRANTY SERVICE

•	 Free service for one year from the day of purchase if the problem is caused by manufacturing errors.
•	 The components and maintenance service fee will be charged if the warranty period is expired.

Free Service will not be Provided in the Following Situations:(*Even if the product is still within the warranty period.)

•	 Damage caused by abuse or misuse, dismantling, or changes to the product not made by the company.
•	 Damage caused by natural disaster, abnormal voltage, and environmental factors, etc.

©2017 ikan Corporation. All rights reserved


